12400 Earl Jones Way

®
Louisville, KY 40299
. . rev-a-shelf.com
Customer Service: 800-626-1126
FCoyY@hD

Innovation through Organization™

INSTALLATION INSTRUCTIONS
SINGLE PULLOUT BASKET

) (s

5 MIN

* Door mount hardware sold separately

Part List
No. Description Qty
A Single Wire Shelf 1
B #8 x %" Truss Head Deep Thread Screws 4

CARE AND MAINTENANCE:
A. B.

Clean with a damp cloth and
wipe parts dry.

SCAN HERE FOR

INSTALLATION VIDEO
:EI g:[m]

[=] A

WWW.REV-A-SHELF.COM/VIDEOS



STEP 1 FIG. A

Place the entire unit into the
cabinet at the desired location,
making sure to leave adequate
space on the sides and front
for frame, hinge, and door
closing clearance

(See Figu'e A).
"

L]

STEP 2

Install the front slides to the
cabinet floor using (2) #8 x 3/4 —~ ~
Tress head screws

(See Figure B). // 111 L1 N

FIG. B

Note: A bit extension T N
may not be needed but is 7 | '

recommended. — ] —\ y ,
\ /

il \
(#2) A
D diju \ /

STEP 3 FIG. C ~ T~

Slide the drawer out half way N\

and secure the rear frame to / \

the floor using the remaining oo

(2) #8 x 3/4 Tress head screws 0 0 l\
/

(See Figure C). - l\ I y4
(I \




® 12400 Earl Jones Way
Louisville, KY 40299
. . rev-a-shelf.com
Customer Service: 800-626-1126
[ f{HCN-R NN Yin)

Innovation through Organization™

INSTALLATION INSTRUCTIONS

CESTA EXTRAIBLE INDIVIDUAL / PANIER COULISSANT SIMPLE

Herramientas requeridas:
Outils Requis:

0

Tiempo estimado de ensamblado
Durée de ['installation:

5 MIN

*Ganchos de montaje de puerta se venden por separado
*Matériel de montage sur porte vendu séparément

LISTA DE PARTES / LISTE DES PIECES
Limpie con un pafio himedo y No. Descripcién / La description Qty
22613 B RIS, A Estante de alambre sencillo 1
Nettoyez avec un linge humide et Etageére en fil métallique simple
if,f,t,’{,‘fgtff;g’ﬁfes pour les secher B | Tornillos de rosca profunda de cabeza segmentada #8 x 3/4" 4
Vis & téte bombée #8 x 3/4 po a filetage profond

ESCANEE AQUI PARA VER EL
VIDEO DE INSTALACION
BALAYER ICI POUR VOIR LA

VIDEO D'INSTALLATION
:EI g:[m]

[=] A

WWW.REV-A-SHELF.COM/VIDEOS



PASO 1/ ETAPE 1 FIG. A

Coloque toda la unidad en el gabinete en
la ubicacién deseada, asegurandose de
dejar el espacio adecuado en los lados y la
parte delantera para el marco, la bisagra y
el espacio libre de cierre de la puerta

(Ver Figura A).

Placez I'unité entiére dans le meuble a I'em-
placement souhaité, en veillant a laisser un
espace suffisant sur les cétés et a I'avant pour
le cadre, les charniéres et le dégagement de
fermeture de la porte

(voir figure A).

PASO 2 / ETAPE 2

Instale los rieles delanteros en el piso del
gabinete usando tornillos de cabeza forma
de Cruz (2) #8 x 3/4 (Ver Figura B).

FIG. B

Nota: Es posible que no se necesite una
extension de bit, pero se recomienda.

Installez les glissieres avant sur le fond du
meuble a l'aide de (2) vis a téte cylindrique #8
x 3/4 po (Voir figure B).

Note : une légére extension peut ne pas étre
nécessaire mais est recommandée.

PASO 3/ ETAPE 3 FIG.C

Deslice el cajon hasta la mitad y fije el mar-
co trasero al piso con los tornillos restan-
tes (2) #8 x 3/4 de cabeza forma de Cruz
(verla Figura C).

Faites glisser le tiroir vers ['extérieur jusqu’a

la moitié et fixez le cadre arriere au sol a
I'aide des (2) vis a téte cylindrique #8 x 3/4 po
restantes (voir figure C).

—H—

i




